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A |

Note: (i) All questions arec compulsory.

(ii)) The question paper consists of 30 questions divided into four Sections *A°, *B”, *C" and 'D".
Section “A’ comprises of ten questions of 1 mark cach, Section ‘B’ comprises of five
questions of 2 marks cach, Section *C’ comprises of ten questions of 3 marks cach and
Section ‘D' comprises of five questions of 6 marks cach.

(iii) All questions in Section A" arc to be answerced in one word or sentence or as per the exact
requirement of the question. )

(iv) There is no overall choice. However, internal choice has been provided in one question of 2
marks, three questions of 3 marks each and two questions of 6 marks each. You have to
attemplt only one of the alternatives in all such questions.

(v} In questions on construction, drawing should bc neat and exactly as per the given
measurement.

(vi) Use of calculator is not permitted.

(vii) Start from the first question and procced to the last. Do not waste your time over a question

which you cannot solve,
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(SECTION -‘A’)

. qmwmm@mmmﬁmmqﬁmmﬁmwmmm :

Write the condition to be satisficd by g, so that a rational number E has a terminating decimal

expansion.

2 Rl WWE p(x) B T, y = p(x) @1 T spfy H R T & /-|\
b(x) & TP B T 3G DI | , / x
The graph of y = p(x) is given in figure for polynomial p(x). x o U
Find the number of zeroes of p(x). y'

-

3. fum TfeRw 2x2 - 6x +3 =03 Yl B uFRI o AT 1

Find the nature of the roots of quadratic equation 2x2 — 6x + 3 = 0.

4 WAR AN (AP.) B e 08 AT el W U a = 4 O A 3R d= -3 1

Write fourth terms of A.P. when the first term a = 4 and the common difference d = =3

5. W g PN sin? 63° + sin? 27° 1
Evaluate : cos? 17° + cos? 73°
6. 5 M Brom ot g6 A QA TR W Y B dw A Fr el ? 1
What will be distance between two parallel tangents of a circle of radius 5 cm ?
A
7. g § EF||BC 81 af§ AE:BE=4:1 3R CF = L.5¥M
81 dl AF B T8 S PHT 1
In the figure, EF || BC. IFAE: BE=4: 1 and CF = 1.5 cm E F
then determinc the length of AF. B
8. @ gl & IREE &1 g 2:3 ¥ IAN Frouwll &1 e s P 1
The circumferences of two circles are in the ratio 2 : 3. Find the ratio of their radii.
0. fre1 FaRal 42 @ YUy Ry | iR AR W P - 1
Find the mean of the following frequency distribution by direct method —
ﬂ_? 4 6 8 10 T
(Variable)
| .
AR 2 | 4 3 !
{Frequency) |
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a2 o wg & e @ mliea E 2 ar 8rA ) widepar &y @l ? 1

-

. Ly A ¥ .o . rys . s
IFthe probability of winning a game is T then w hat will be the probability of losing.

g - T
(SECTION-"B")

. 2 . 17 . .
1. GF W SIY I GorH @ A — & | W T A 2

12,

13.

14

15.

: . . .17
The sum of a number and its reciprocal is re Find the number.

I tand = LE 1 7sin0 + 3cos2H H1 7 FT HfT| 2

v

Iftan{) = Lg then find the value of 7sin“8 + 3cos?6.
J

R #fm & g (-3, 00, (1, -3) 3R (4, 1) TP WA B & o &) 2

Prove that the points (3. 0y, (I, =3} and (4, 1) are the vertices of an isosceles right angled triangle.

AR 6 WY T TP TERR T A 9 W 911 B T 4 Ai) &, ad S w9t R @)
o A T 28 Ak 8] AR B FE Fa A 2

A vertical pole of length 6 m casls a shadow 4 m long on the ground and at the same time a tower
casts a shadow 28 m long. Find the height of the tower.

UF TR & UF aR B @ & | Frefales & o) s B afisar s Sfow - 2
(i) Ud apied Gl

(i) @ R s=m

A dice is thrown once. Find the probability of getting —

(i) a prime number

(i1) an odd number

Udqr (OR)

@ 4 4 30 Rew & B w1 d 30 95 demt ofea & aR 1§ 9w R aigmaw
Prareh St 2, g sl s SR 6 39 v w aifa @l -

(i) 3@ B [ HEm

(i) T T 3 g

A box contains 30 discs which are numbered from | to 30. If one disc is drawn at random from the
box, find the probability that it bears :

(1) atwo digit number

(ii) a perfect squarc number
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( SECTION -*C*)

16. W& 6, 72 3R 120 F1 3 UGS R ERT HCF 3R LOM FIT a1 | 3
Find the HCF and LCM of 6, 72 and 120, using the prime factorization method.

A(OR)

Rig Afee 5 3 - V5 U R we 2|

Prove that 3 — VS is an irrational number.

1741%Wa§q5612—3—7x$¥ﬁﬁﬁﬁﬁﬁq&ﬁ??ﬂﬁﬁmw¢ﬁfﬂ$maﬁmﬁ
W e | 3
Find the zeroes of the quadratic polynomial 6x2 —3 = 7x and verify the rclationship between
zeroes and the coefTicients.

3 1 2,3
18.Fﬁﬂﬂ"ﬂ;-;=—9,;+;=5ﬁ%ﬂﬂﬁﬁﬂ{(x#:O.y=0) 3
3 1 2,3
Solve the cquations=——-==9 , =+==5 (x#0,y#0)
x ¥y x ¥

19, Rl WA AR (A.P.) B TR A SN 17 &R 350 &) o wrd afw 9 2, 1 T b
wEidRFm Amame? 3

The first and the last terms of an A.P. are 17 and 350 respectively. If the common difference is 9,
how many terms are there and what is their sum ?

http://www.ukboardonline.com

20. g o - 1 4 cosA sinA 3
Prove that sinA + 1+ cosA = 2cosec A
IFT (OR)

frg g 1—-cos®

= - 2
Prove that: T+ cosg — (cosec@—cotb)

21. @ U T Aifre e Rl A (1. -5) AR B (=4. 5) @ Pam Ten W@aEvs X - 96
R iar 8| Rerore fig & Frdwia ot s Afer ) 3
Find the ratio in which the line segment joining A (1, =5) and B (-4, 5) is divided by the X - axis.
Also find the coordinates of the point of division.

22. 99 TGS B St s A Rres M, o0 w9 A (=4, -2, (=3.-5).G. -D IR 2, ) FI 3

Find the arca of the quadrilateral whose vertices taken in order are (—4, =2). (=3.-5).(3,=2)and (2, 3).
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23 6 W0 Bow & g w R < el Y dift o weR 60° @ B w g & 3

Draw a pair of tangents to a circle of radius 6 cm, which are inclined to cach other at an angle of 60°.

2.5 0, 6 ¥h 3R 7 W0 ol a9 @ Brie @ T AR ok AR T a1 B @ v R
Roredt oot el g0 Pger 1 e sl o 2 6 g 3
Construct a triangle with sides 5 cm, 6 ¢cm and 7 cm and then construct an another triangle whose

7 . .
sides are : of the corresponding sides of the first triangle.

25. € 7 pfa A, ABCD 14 ¥ w1 @rel U af §) AB.C AR
D B &% HAIR IR WK Il 39 YOR G 0 §
TS gt 9 99 gt o & < gl @) 9 9§ e
&1 2 | BTifhd W BT §TGA S BT |
In the given figure, ABCD is a squarc of side 14 cm. With centres A,B.C

and D, four equal circles are drawn such that each circle touch externally two
of the remaining three circles. Find the area of the shaded region.

3T (OR)
fra 4 42 ¥ P & g 1 ¥ O &) 3w wrifed w1 @ GRAT T
§ABA T PG, AT LA0B =1200

In the adjoining figure, O is the centre of a circle with radius 42 cm. Find
the perimeter and area of the shaded part, if ZAOB =120°,

e - T
(SECTION-‘D")

T XS & A A W 150 fFl @ gl w a3 o 0w e 5 R ofy e ofde A )
98 9! I ¥ U3 He1 FW qNY ol | YS! @ ard I aife | 6

A train travels 150 km at a uniform speed. If the speed had been 5 km/h more, it would have taken
one hour less for the same journey. Find the speed of the train.

T (OR)

$ FEA IR 12 795 A B B B 10 RF § ol & we & ol 6 et ok 8 wes o
7 @1 14 R F @f o 5w ¥ 9@ A T T @ R A v e A B W
T AR TR B P awA N el ded R o o ?

& men and 12 boys can together finish a work in 10 days, while 6 men and 8 boys can finish it in (4
days. Find the time taken by one man alone and that by one boy alone to finish the work.

wod duluopIeo@ N Mmm//:diy

27.Q$tﬂ=rﬁa%anméaihqaﬁma%arﬁwﬂaﬁwﬁaa%qﬂwﬁmaaﬁﬁgﬂﬂﬁwm‘
R & 971 B wF B # | frg D B dRR @ ST 6 dier 8 6

The angles of clevation of the top of a tower from two points at a distance of 4 m and 9 m from the

base of the tower and in the same straight line with it are complementary. Prove that the height of
the tower is 6 m.
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28. AT WHg FAT R ? 6

29,

30.

Rra & BLR CM (& Qa0 Ful ABC &) Aiftaarl & o 391 Byt &1 & A geam &) g
fe il & -
4(BL*+CM") = 3 BC’
What is Baudhayan Theorem ?
In figure, BL and CM are medians of a inangle ABC right angled at A,

Prove that C L A
4(BL*+CM*) = SBC?

M

JHT (OR)

Rrg Ay 6 < wred Brpal & dawal 1 U §T0 ATd AtreRl & a1 @t g 8|
31 ey Pl B MRAGK 4:9 B 37UE A €1 37 Pl & &aell ®1 3T S Hiforg |

Prove that the ratio of the areas of two similar triangles is equal to the square of the ratio of their
corresponding medians.,

Use it to find the following : .

Medians of two similar triangle are in the ratio of 4 : 9. Find the ratio of the areas of these triangle.

T 12 0 AR FAE 15 W I TF TG A0 B STOR B a9 TFEsm 71 AR g 2
$6 ITGEAH P FUE 12 WA AR @ 6 N I G H @ T 2, R S R srieer
&M | 37 UGl P & TR BT N W JFHHA § W A G € 6
A container shaped like a right circular cylinder having diameter 12 cm and height 15 em is full of
ice cream. The ice cream is to be filled into cones of height 12 cm and diameter 6 cm, having a
hemispherical shape on the top. Find the number of such cones which can be filled with ice cream.

1 TSl & TgeE T DI 6
Find the mode for the following data :
TARE | < | (5225 | 25-35 | 35-45 | 45-55 | 55-65
(Class Interval)
Trreet 6 ‘ nol 2 | 3| 1|
(Frequency)
koo ok gk
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